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Q.1 (a)
Q.1 (b)

Q.1 (a)
Q.1 (b)

Q.2

Q.2

Q.3

Q.3

SECTION -1

Define MCS and write a short note on task control.

A department of VIKRAM Co. Ltd. aftains sales of 'Rs. 6,00,000 at 80% of its
normal capacity. lts expenses are given below:

Particulars ' | (Rs)

Administration Costs: '

Office salaries 90,000

General expenses ' 2% of sales
| Depreciation 7500

Rent and rates 8750

Selling Costs:

Salaries | 8% of sales

Travelling expenses 2% of sales

Sales (office) 1% of sales

General expenses ‘ 1% of sales

Distribution Costs:

Wages 15000

Rent o 1% of sales

Other expenses 4% of sales

Draw up flexible budget, operating at 90%, 100%, and 110% of normal capacity.
OR .
‘What is reporting? Discuss the requisites of good reporting.

What do you mean by Budgeting? Explain the various types of Budget with
1lustrations.

What are the features of the computer? Explain the various methods of data
processing.

OR
Distinguish between fraud and error and discuss the role of computer in accounting

in infornmation age.

SECTION - II

What is Responsibility Accounting? Explain cost center and investment center in
detail.
OR

Clarify the concept of performance appraisal and explain its factors in detail with
illustrations.
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(10)

(8)
(10)
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Q.4 State the objectives of management audit and discuss its aspects. (17

OR

Q.4 Elaborate the significance and problems of management audit. (17
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